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TEST I 
UNIT VI INDIAN ECONOMY &  

UNIT X APTITUDE AND MENTAL ABILITY 
 

1 2 3 4 5 6 7 8 9 10 
B C A D B A B C A C 

11 12 13 14 15 16 17 18 19 20 
B C A B D C A B D B 

21 22 23 24 25 26 27 28 29 30 
A C D B A B D C C B 

31 32 33 34 35 36 37 38 39 40 
D A A B C D A C B D 

41 42 43 44 45 46 47 48 49 50 
A B C A B C B C C A 

51 52 53 54 55 56 57 58 59 60 
D B C A C B B C A D 
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1. Kamal invested ₹ 3,000 for 1 year at 7 % per annum. Find the amount received 
by him at the end of one year. 
A.Rs. 3210   B.Rs.3100   C. Rs. 3330   D. Rs. 3500 

fky; Xu; Mz;bw;F 7% tl;b tPjj;jpy; ₹ 3000 Nrkpf;fpwhu;. Xuhz;L Kbtpy; mtu; 
ngWk; njhifia fhz;f. 
A.Rs. 3210   B.Rs.3100   C. Rs. 3330   D. Rs. 3500 

 
Explanation: 
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2. The simple interest at x% for x years will be Rs. x  on a principal of 

 

A. Rs.x   B.Rs. 
100

x
  C. Rs. 100x  D. Rs. 

2

100

x
 

ve;j mryhdJ  x% jdptl;bf;F x tUlq;fSf;F &.x vd;w jdptl;biaj; jUk; 

A. Rs.x   B.Rs. 
100

x
  C. Rs. 100x  D. Rs. 

2

100

x  
 
Explanation: 
  

Let principal sum be y 
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3. In what time will ₹ 5,600 amount to ₹ 6,720 at 6% per annum? 

A. 3 years  B. 3
1

4
 years  C. 𝟑

𝟏

𝟑
 years   D. 3

1

2
  years 

vj;jid Mz;Lfspy; ₹ 5,600,  6% Mz;L tl;b tPjj;jpy;> $Ljy; ₹ 6,720  MFk;? 

A. 3 Mz;Lfs;  B. 3
1

4
 Mz;Lfs; C. 3

1

3
 Mz;Lfs;  D. 3

1

2
  Mz;Lfs;  
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Explanation: 
 

Principal, P = Rs. 5600 
         Rate, r = 6% 

 Amount = Principal + Interest 
    6720 = 5600 + Interest 

  = 6720 – 5600 = 1120 

 n = 1120 100

5600 6




 = 1

3
3

 years. 

 
4. Vishal deposited Rs.200 per month for 5 years in a recurring deposit account in a 

post office. If he received Rs. 15,660. Find the rate of interest 
A. 12%         B. 5%   C. 10%       D. 9% 
tp~hy; xt;nthU khj Jtf;fj;jpYk; &.200 I Xh; mQ;ryfj;jpy; 5 Mz;LfSf;F 
nrYj;jp te;jhh; Kbtpy; mth; &.15>660 ngw;whh; vdpy; tl;b tPjk; vd;d? 
A. 12%         B. 5%   C. 10%       D. 9% 
 
Explanation: 
 

  Maturity amount A = Rs. 15660  
     P = 200, n = 5 × 12 = 60 months  

     Period N = 
1 ( 1)

12 2

n n
yrs

+ 
 
 

 

     = 1 61 305
60

12 2 2
  = yrs  

Amount deposited Pn = 200 × 60 = 12,000  

  Amount = Pn + 
100

PNr
 

   15660 = 12,000 + 
200 305

2 100

r 


 

    3660 = 305r 

         r = 12% 
 

5. If Ramya needs Rs.9, 00,000 after ten years, how much should she invest in a 
bank pays 20% simple interest?  
gj;J Mz;bw;Fg; gpwF uk;ahtpw;F &.9>00>000 Njitg;gLfpwJ vdpy; Mz;bw;F 20% 
jdptl;b mspf;Fk; tq;fpapy;> uk;ah vt;tsT mryhf nrYj;j Ntz;Lk;?  
a. Rs. 2,00,000   b. Rs. 3,00,000  c. Rs. 4,00,000  d. Rs.5,00,000 

 
Explanation: 
 

Let, Investment be Rs. P 
   P + S.I = A 
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6. If an investor wants to receive Rs.10,000 as simple interest every month and rate 
of interest is 8% per annum then the amount he should invest is  
a. Rs. 25 lakhs     b. Rs. 20 lakhs  
c. Rs. 15 lakhs     d. Rs.8 lakhs  
xU KjyPl;lhsh; gpujp khjk; jdp tl;bahf &.10>000 ngw tpUk;Gfpwhh;. tl;b tPjk; 
Mz;Lf;F 8% vdpy; mth; KjyPL nra;a Ntz;ba njhif vd;d?  
a. &. 25 yl;rk;     b. &.20 yl;rk;  
c. &. 15 yl;rk;     d. &.8 yl;rk; 
 
Explanation: 
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7. Simple interest on a certain sum in 
16

25
of the sum. The rate percent, if the rate 

percent and time (in years) are equal, is 
A. 6%   B. 8%   C. 10%   C. 12% 

xU njhiff;fhd jdptl;bahdJ mj;njhifapd; 
16

25
klq;fhf cs;sJ.  NkYk; 

tl;btPjkhdJ fhy mstpw;F rkkhf ,Ue;jhy; me;j tl;b tPjk; vt;tsT? 
A. 6%   B. 8%   C. 10%   C. 12% 
 
Explanation: 

  Given  S.I = 
16

25
P  

    r = n = R (say) 

   Then, 
16

25
P

P
=

100

R R 
 

     R2 = 
100 16

25


 

     R = 8  
   n = 8 yrs, and r = 8%  
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8. Find the simple interest and the amount due on Rs. 6,750 for 219 days at 10% per 
annum.  
A. 205    B. 305   C. 405   D. 415  
&gha; 6>750f;F 219 ehl;fSf;F 10% tl;btPjk; jdptl;b fhz;f  
A. 205    B. 305   C. 405   D. 415  
 
Explanation: 

 

.
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=  
 

9. A lent ₹ 450 to B for 2 years, and ₹ 500 to c for 3 years, at a certain rate of simple 
interest. If he received altogether from both ₹ 120 as interest, find the rate interest.  
A. 3%   B. 4%   C. 5%    D. 6%  
A vd;gth; B f;F 2 Mz;LfSf;F &.450 I fldhf nfhLj;jhh;> A vd;gth; C f;F 
3 Mz;LfSf;F &.500 I fldhf nfhLj;jhh;> ,t;tpUtUk; &.120 jdptl;bahf 
nfhLj;jdh;> vdpy; Mz;L tl;b tPjk; vt;tsT?  
A. 3%   B. 4%   C. 5%    D. 6% 

 
Explanation: 

 
450 2 500 3

120
100 100

9 15 120

5%

x x

x x

x

      
 + =   

   

+ =

=

 

 
10. A certain sum of money amounts to Rs. 8,880 in 6 years and Rs. 7,920 in 4 years 

respectively, then the principal amount is 
A. Rs. 6,000  B. Rs. 6,100  C. Rs. 5,100   D. Rs. 5,000 

  
xU Fwpg;gpl;l mryhdJ 6 Mz;Lfspy; &. 8>880 MfTk; 4 Mz;Lfspy; & 7>920 
MfTk; khWk; vd;why; mryhdJ __________ MFk;.  
A. &. 6>000  B. & 6>100  C. &. 5>100   D. &. 5>000    

 
Explanation: 

 
P + 6I = 8880 
P + 4I = 7920 
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         2I =  960 
I = 480 

        7920 – 4(480) = 7920 – 1920 = 6000 
Principal is Rs. 6000 

 
11. Find the simple interest on Rs. 7,500 at 8% per annum per 1 year 6 months. 

A. Rs. 600  B. Rs. 700  C. Rs. 800  D. Rs. 900 

₹7,500 f;F 8% tl;b tPjk; xU tUlk; 6 khjq;fSf;fhd jdp tl;biaf; fhz;f
         
A. Rs. 600  B. Rs. 700  C. Rs. 800  D. Rs. 900 

 
Explanation: 

 
P = Rs. 7500, r = 8%, n = 1.5 yrs  

  I = 
100

Pnr
 = 

75 00 8 1.5

100

 
 

  S.I = Rs. 900  
 

12. The Simple interest on a certain sum for 3 years at 14% per annum is Rs. 235.20. 
The sum is?  
A. Rs. 480  B. Rs.560  C. Rs.650   D. Rs.720  
xU njhifapd; jdp tl;b 3 Mz;LfSf;F &.235.20 NkYk; tl;b tPjk; 14% vdpy; 
mj;njhifapd; kjpg;G? 
A. Rs. 480  B. Rs.560  C. Rs.650   D. Rs.720  
 
Explanation: 

 
Given S.I = Rs. 235.20  

 r = 14%; n = 3 yrs, P = ?  

 235.20 = 
3 14

100

P 
 

 P = Rs. 560  
 

13. The simple interest on Rs.68,000 at 
2

16
3

% per annum for 9 months 

A. Rs.1, 200  B. Rs. 8,050  C. Rs. 8,500 D. Rs. 1,020 

Mz;Lf;F 
2

16
3

% tPjk; & 68>000f;F 9 khjj;jpw;fhd jdp tl;bahdJ  

A. Rs.1, 200  B. Rs. 8,050  C. Rs. 8,500 D. Rs. 1,020 
 
Explanation: 
 

P = Rs. 68,000, n = 9 months  
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  r = 50

3 12
%per month  

  S.I = 
100

P n r   

   = 
68,0 00 50 9

3 12 100

 

 
 

  S.I = Rs. 8500  
 

14. The simple interest on a sum of money will be Rs. 200 after 5 years. In the next 5 
year principle amount is tripled. What will be the total interest at the end of the 
10th year 
A. ì 800   B. ì 650   C. ì 700  D. ì 600  
xU njhiff;fhd jdp tl;bahdJ 5 tUlj;jpy; & 200 milfpwJ. mLj;j 5-
tUlj;jpy; KjyPl;L njhifahdJ 3- klq;fhfpwJ vdpy; 10-tUl Kbtpy; fpilf;Fk; 
nkhj;j tl;b njhif vt;tsT?  
A. ì 800   B. ì 650   C. ì 700  D. ì 600  
 
Explanation: 

 
S.I for 5 yrs = Rs. 200  

 when principle is tripled, then  
 S.I. for 5 yrs. will be triple  
 (200 × 3) = Rs. 600 
 S.I for 10 yrs = 200 + 600  
  = Rs. 800  
 

15. A sum of money triples itself at 8% per annum over a certain time.  The time taken 
is 
A. 20 years           B. 22 years     C. 25 years    D. 30 years. 
xU Fwpg;gpl;l mryhdJ Mz;Lf;F 8% tl;b tPjj;jpy; %d;W klq;fhFtjw;F 
gpbf;Fk; fhyk;  
A. 20 years           B. 22 years     C. 25 years    D. 30 years. 
 
Explanation: 

 
Let the sum of money be x 
After 8 years it triples. So it becomes 3x. 
Simple interest is 3x – x = 2x 

8
2

100

200
25%

8

x y
x

y

 
=

= =
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16. If simple interest for a sum of Rs 3100 for 4 years is Rs 40 more than the simple 
interest of Rs 2900 for the same duration at the same rate of interest then the rate 
of interest is 
A. 2%  B. 5%   C. 8%   D. 10% 
&. 3>100 f;F 4 tUlq;fSf;F Fwpg;gpl;l tl;b tpfpjj;jpy; tUk; jdptl;b &. 2>900 
f;F mNj fhyj;jpw;F mNj tl;b tpfpjj;jpy; tUk; jdptl;bia tpl &. 40 mjpfkhf 
cs;sJ vdpy; tl;b tpfpjkhdJ 
A. 2%  B. 5%   C. 8%   D. 10% 
 
Explanation: 

 
Given that  

  S.I = 
100

Pnr  

  3100 4 2900 4
40

100 100

r r   
= +  

  124 r = 116 r +40  
      8r = 40  
      r = 5% 

 
17. Mr. X borrowed Rs.5,000 – on 7th of June 2006 and returned it on 19th August 2006.  

Find the amount he paid, if the interest is calculated at 8% per annum  
A. `5140   B. `5080  C. ` 5210  D. `5280 
jpU X vd;gth; 7.6.2006 md;W ` 5>000I fldhfg; ngw;W mij 19.8.2006 md;W 
jpUk;g nrYj;jpdhh; Mz;bw;F 8% tPjk; tl;b fzf;fplg;gl;lhy; mth; nrYj;jpa 
njhif vt;tsT? 
A. `5140   B. `5080  C. ` 5210  D. `5280 
 
Explanation: 
 

Interest calculated form 7th June to 18th august.  
  i.e. (30 – 6) + 31 + 18 = 73 days  

   I = 
100

Pnr
 

     = 
5000 73 8

.80
100 365

Rs
 

=


 

        Amount = 5000 + 80 = Rs. 5080 
 

18. Sathish kumar borrowed ₹ 52,000 from a money lender at a particular rate of 

simple interest. After 4 years, he paid ₹ 79,040 to settle his debt. At what rate of 
interest he borrowed the money? 
A. 10%   B.15%   C. 13%   D. 8% 
rjP~;Fkhu; vd;gtu; xU fld; toq;F eguplkpUe;J &.52>000 I xU  Fwpg;gpl;l 
jdptl;b tPjj;jpy; fldhfg; ngw;whu;. 4 Mz;Lfs; fopj;J rjP~;Fkhu; &. 79>040 I 
nkhj;jj; njhifahfr; nrYj;jpdu; vdpy;> tl;b tPjj;ij fhz;f 
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A. 10%   B.15%   C. 13%   D. 8% 
 

Explanation: 
 

Principal (P) = ₹ 52,000 
Time (n) = 4 years  
Interest = Amount – Principal  
= 79,040 − 52,000 = 27,040 

.
100

Pnr
S I =  

52000 ×r × 4
27040 = 

100
 

27040 100
13%

52000  4
r


= =


 

 

19. A man invested 
1

3
 of his capital at 14%, 

1

4
 at 16% and the remainder at 20%. If his 

monthly income is Rs. 561, the capital is 
A. Rs.3300    B. Rs.3920  C. Rs.3320              D.  Rs.6732  

xUth; jdJ %yjdj;jpd; 1

3
 klq;if 14% tl;bf;Fk;> 1

4  
klq;if 16% tl;bf;Fk;> 

kPjj;njhifia 20% tl;bf;Fk; KjyPL nra;fpwhh;. mjd; %yk; mth; khj 
tUkhdkhf &. 561 ngWfpwhh; vdpy; mth; KjyPL nra;j nkhj;j njhif vt;tsT?  
A. Rs.3300    B. Rs.3920  C. Rs.3320              D.  Rs.6732  
 
Explanation: 

 
Let the capital be Rs. P then  

  
14 16 5 20

561
3 100 4 100 12 100

P P p     
 +  +  =     

     
 

   
7

561
150 25 12

P P P
+ + =  

   14P + 12P + 25P = 168300 
   51P = 168300 
      P = Rs. 3300S 
 

20. At what rate of simple interest a certain sum will be double in 15 years? 

A. 6
1

3
%    B. 5

1

3
%  C. 5

2

3
%   D. 6

2

3
% 

xU Fwpg;gpl;l njhifahdJ 15 tUlq;fspy; ,ul;bg;ghtjw;F vspa tl;b tpfpjk; 
vd;d? 

A. 6
1

3
%    B. 5

1

3
%  C. 5

2

3
%  D. 6

2

3
% 

 
Explanation: 
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Let the sum be Rs. x 

Then, SI = Rs.x 
100

Rate% = 

100 2
= 6 %.

15 3

SI

Pn

x

x

 
 
 

 
= 

 
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